
SAP ABAP table AFPO_UPDATE_RELEVANT {Fields that are relevant for  update from AFPO (sim. vers.)}

AFPO_UPDATE_RELEVANT

MANDT [CLNT (3)]

AMEIN [UNIT (3)]

MEINS [UNIT (3)]

MATNR [CHAR (18)]

KNTTP [CHAR (1)]

KALNR [NUMC (12)]

BWTAR [CHAR (10)]

BWTTY [CHAR (1)]

PWERK [CHAR (4)]

LGORT [CHAR (4)]

DWERK [CHAR (4)]

DAUAT [CHAR (4)]

VERTO [CHAR (4)]

SOBKZ [CHAR (1)]

CHARG [CHAR (10)]

GSBER [CHAR (4)]

SERNP [CHAR (4)]

CKHS

MANDT [CLNT (3)]

LEDNR [CHAR (2)]

BZOBJ [CHAR (1)]

KALNR [NUMC (12)]

KALKA [CHAR (2)]

KADKY [DATS (8)]

TVERS [NUMC (2)]

BWVAR [CHAR (3)]

KKZMA [CHAR (1)]

 AFPO_UPDATE_RELEVANT-KALNR = CKHS-KALNR 
0..N

{0,1}

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 AFPO_UPDATE_RELEVANT-MATNR = MARA-MATNR 
0..N

1

MCHA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

CHARG [CHAR (10)]

 AFPO_UPDATE_RELEVANT-CHARG = MCHA-CHARG 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 AFPO_UPDATE_RELEVANT-MANDT = T000-MANDT 
0..N

1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 AFPO_UPDATE_RELEVANT-LGORT = T001L-LGORT 
0..N

{0,1}
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 AFPO_UPDATE_RELEVANT-DWERK = T001W-WERKS 

0..N

1
 AFPO_UPDATE_RELEVANT-PWERK = T001W-WERKS 0..N

{0,1}

T003O

CLIENT [CLNT (3)]

AUART [CHAR (4)]

 AFPO_UPDATE_RELEVANT-DAUAT = T003O-AUART 
0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 AFPO_UPDATE_RELEVANT-AMEIN = T006-MSEHI 

0..N

{0,1}

 AFPO_UPDATE_RELEVANT-MEINS = T006-MSEHI 

0..N
1

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 AFPO_UPDATE_RELEVANT-SOBKZ = T148-SOBKZ 

0..N

{0,1}

T149C

MANDT [CLNT (3)]

BWTTY [CHAR (1)]

 AFPO_UPDATE_RELEVANT-BWTTY = T149C-BWTTY 

0..N

{0,1}

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 AFPO_UPDATE_RELEVANT-BWTAR = T149D-BWTAR 

0..N

{0,1}

T163K

MANDT [CLNT (3)]

KNTTP [CHAR (1)]

 AFPO_UPDATE_RELEVANT-KNTTP = T163K-KNTTP 

0..N

1

T377P

MANDT [CLNT (3)]

SERAIL [CHAR (4)]

 AFPO_UPDATE_RELEVANT-SERNP = T377P-SERAIL 

0..N

0..N

T437V

MANDT [CLNT (3)]

WERKS [CHAR (4)]

VERTL [CHAR (4)]

 AFPO_UPDATE_RELEVANT-VERTO = T437V-VERTL 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 AFPO_UPDATE_RELEVANT-GSBER = TGSB-GSBER 

0..N

{0,1}


